
60016 / FAST80

Position

00

ItemNo

56903

56904

56930

56937

56941

56947

56958

56960

56961

56969

56977

57003

57048

57093

57657

59323

59327

59711

59748

59749

59752

59781

59811

59820

59834

59838

59839

59840

59853

59854

59855

59858

59863

59864

59874

59876

59886

59888

59892

59895

59896

59897

59898

59905

59916

59918

59919

59923

59924

59931

59933

59935

59937

59945

59961

59973

59974

59976

59980

Description

Drain Valve Membrane

Contactor 230V

Upper Rear Panel

Contactor

Embossed Key White Ø 20.65 MM H.13.20 MM

PRESSURE SWITCH HOOD

CABLE (0.78CM)

Suction Body Grill

Arm Support Bushing

Spacer M3 RIVER 81

Water Duct River 80-82

Electrical board

Connection Terminal E50

Adjustable stainless steel foot 125/200 mm

Breathing Joint Device

O-ring Ø 58x6 mm

Solenoid Valve 1 Way 3/8"

Wash Collector

Filter with Stainless Steel Weight Tube Ø4x6mm

Wash and Rinse Arm

Lower pin

Dome Spring CLEAN 100

Pipe Fitting 400F

Flat Washer Ø 19.5x9.5x1 mm

Detergent Injection Tank Fitting

DETERGENT DISPENSER

Rinse aid dispenser

Fuse 250V

Heater

Suction Bodies

Command Keypad

Pressure switch

Tube 6X10 MM Fittings Ferrules

Probe Support 185 MM

Push Button Body

Suction Sleeve

Tank Filter 425x225x20mm

PUMP LGB LA50 470W 230V 50Hz

Upper Washing Washer 44.30 mm

Resistance Protection

Arm Support Lock

River Arm Bracket 82

O-Ring Gasket Ø 110 MM

Fan motor

Tube Fixing Nut 75x55 mm

Washing Arm Gasket 111x95 MM

Regulation Hook M8X285 MM

Overflow Ø 35X200 MM

O-Ring Gasket Ø 35X2.6 MM

BOILER LA50

External Washing Power Supply

Drain Filter Ø190x100mm

Electrical Plate Support Feet

Screw M4X0.70 MM

Plastic Nut 5.50X6.30X3.30 MM

Pressure Tube TP 12X U61

Tube 4X6 U61 (Order by Meters)

Magnet for Micro Switch

Pressure Tube Ø 5X11 MM (by meters)



60016 / FAST80

59985

59990

60038

60130

60171

60208

60219

60220

60230

62413

62426

63761

63764

63767

63768

63769

63773

63778

63781

63782

63789

66082

Fluorescent Holder

Resistance Gasket 45x20 MM

Union Tube

Tube

Pump Impeller Cap

Pump Impeller

Washing basket support

Fuse Door Lock

Shock Absorber

Pump Elbow

Upper Pin

Contact Thermostat 90°C

Cycle Start Push Button Switch 250V 1

Magnetic microswitch

TUBE SENSOR 400 MM

Retainer

Impeller 87.70 mm

O-Ring Gasket Ø 145X5.2 MM

Capacitor 10μF 400-450VAC

Flat Gasket 75x57x2 MM

Bipolar Diverter Switch

Elbow Clamp Pump

2024-12-17



60016 / FAST80


